TRACKERBOT

SETUP GUIDE &
<~

+

[=]

A =1t

Q GitHub 7 Buy REX
rbt.ist/rexgithub

Tra Cke rB ot Components of TrackerBot

TrackerBot detects the black lines on the track and follows them using the line tracker sensor underneath it.
There are two IR transceiver sensors on the line tracker sensor. Based on the values obtained from the
sensor, TrackerBot detects the lines on the track. Different colored lines give different analog values. By
making suitable adjustments in the code, TrackerBot can also track lines of different colors.

REX Main Board HC-SRO4 TCRT 5000

Distance Sensor (Line Tracker)

How Does Line Follower Sensor Algorithm Work?

TrackerBot determines its actions by obtaining various values from the line tracker sensor. These three
different values are explained in the image below.

#l M3 Nut 12 pcs.

h—. M3 x 6 mm Screw 4 pcs. - ( Plastic )
DC Gear Motor 4pcs.
W—I M3 x 8 mm Screw 12 pcs.

W—I M3 x 12 mm Screw 4 pcs.

w—l M3 x 30 mm Screw 8 pcs.

v '—I M3 x 6 mm M-F Spacer 4 pcs.

_—I M3 x 25 mm Female Spacer 8 pcs.

{ R3 2 pcs.

' - Motor cables can be
arranged as seen in
the image.

M3 Nuts 2 pcs.

R3 8pcs.

L. - e
.

Kk ~ .

vy

M3 X 30 mm Screw 2 pc:

Complete same steps
for other sides.

——— DC Gear Motor

R6 «——C

(ﬂ
o
IS
o
o
%

M3 X 25 mm Female Spacer 4 pcs. M3 x 8 mm Screw 4 pcs.
M3 x12 mm Screw 2 pcs.

M3 X 25 mm Female Spacer 4 pcs.
' 7!
‘ o

2 S ] ll
| . g

RS
!

g2 -,
T N :
‘ Do 1 : — )
D TR 'a |
: | : o | b 2
1 ' i H |
' i i I : 4 M3 Nut 4 pcs. | l l
| : ! : 3
1 ' i H -
b é S - I - 3
Q---noee ® M3 X 8mm Screw 4 pcs. ! ". : N L
C : M3 X 8mm Screw 4 pcs. 1 T

TCRT 5000 (Line Tracker)




Gear Motor Wheel 4 pcs.

M3 x 6 mm Screw 4 pcs
( Plastic)
M3 Nut 2pcs.
T

T | ' In order to prevent any short circuit M3 x 15 mm Screw 2 pcs.
! ' ! related issues, please use plastic screws
and spacers for electronic cards.

REX 8in1 Main Board

‘*MBXBmmM—FSpacer4pcs, /

( Plastic)

HC - SRO4

Assembly is finished

2 o9 | B

The Circuit Diagram
MOTOR 4 After assembling the acrylic pieces, you can proceed with circuit installation as shown in the diagram below.
' oot s
TCRT 5000 (to Tracker Sensor Slot)
1 |— HC-SRO04 —

I 3 Distance Sensor

MOTOR 1 I
MOTOR 2 I

MOTOR 3

1
MOTOR 1

=) 10

Arduino Code

B

scon the QR COde tO go tO ----------------------------------------------------------------------------------------------------------------------------------------------------------------
the whole code and the
necessary libraries.




